Grade 8: Practice Worksheet

Domain Name: The Number System

Match each fraction with the correct division problems.

5[1 1[5 5=+1

m|—L -\I|I'\J .h-‘w

Write the fraction 2/4g as a decimal.

C

(@

C

0.125

0.13125

0.3

0.725

none of the above

Convert the decimal to a fraction in simplest form.

0.2:EL

4. Convert the decimal to a fraction.

0.72 =?

= 3[4 4[3 3:4 4:3

7[27 2[7 7:2 217

1595

Y
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Grade 8: Practice Worksheet

5. Convert the decimal to a fraction.

0.4=?

6.60r18

Which expression is greater?

Hint: You can find the answer using approximation.
6

18

7.

Which point on the number line below is located at 1.5 ?

Hint: You can find the answer using approximation.

1715 2 25 3 35 4 45 5

Which expression matches the point plotted on the number line below? Hint: you can find the answer using approximation.




Grade 8: Practice Worksheet

Which number line shows the correct location of kif k=3 ?

Y

k
el | | | ] | | | o
~ | | | 1 I ‘I I Ll
7 75 8 85 9 95 10 105 11
k
| | | | 1 1 | | | o
~ I I I 1 I I L
7 75 8 85 9 95 10 105 N
k
—_
7 75 8 85 9 95 10 105 N
k
ol Il 1 1 1| 1 Il Lo
1 | | I 1 I | 1 L
7 75 8 85 9 95 10 105 N

10.

Which of the following inequalities is correct? Hint: You can find the answer using approximation.

r‘al

> /g3>10743..
C /a3 <8

Va3

= < /g3<10743..

- <10.743...
—_

C 8

1 —
C 10.743..>8_— > V83

11.

Which of the following statements are true of rational numbers?

Check all that are true.

[~ Rational numbers can NOT be written as fractions.

[T Arepeating decimal is a rational number.

[~ The square root of four is an example of a rational number.
[~ Arational number can have zero as the denominator.

I~ Indecimal form, rational numbers continue on forever without ever repeating.
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Grade 8: Practice Worksheet

12.
Drag the point to the approximate location of the
irrational number on the number line.

™=3.14159...
<1 | | | | [l 1 1 Ly
| | | | I I I 1 |
27 28 29 30 31 32 33 34 35
e
13.

The following irrational number is shown on which number line?

V102 3.162

<! ] | | I. l l | [
| ! 1 | I | | | "
3.0 3.05 3.1 3.15 3.2 3.25 3.3 3.35 34

I R TR T P T SR TR T B
D e T b I BN . R

3.0 3.05 3.1 3.156 3.2 3.25 3.3 3.35 3.4

<« I | .l | l l | | o
| | 1 | | | | "
3.0 3.05 3.1 3.15 3.2 325 3.3 3.35 3.4

14.

Evaluate.

o —

15.
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Grade 8: Practice Worksheet

Categorize each square root as greater or less than
the given number.

Less than 3 Greater than 3

7 | V3|
25 | VAT |
V2 ]

16.

Evaluate:

Vlﬁis

C 55

¢ Greater than 4 and less than 5
¢ Greater than 6 and less than 7.
c 5

¢ Greater than 5 and less than 6

¢ none of the above

17.
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Grade 8: Practice Worksheet

Categorize each square root as greater or less than
the given number.

Less than 7 Greater than 7

B | V& |

/8 | V53 |

18.

19.

V65

Which of the following statements are true of rational numbers?

Check all that are true.

[~ Rational numbers can be written as fractions.

[~ Pi(m)is an example of a rational number.

[T The square root of four is an example of a rational number.
[~ One divided by zero is an example of a rational number.

[~ Indecimal form, rational numbers continue on forever without ever repeating.
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Grade 8: Practice Worksheet

Categorize each square root as greater or less than
the given number.

Less than 3 Greater than 3

20.

Which of the following inequalities is correct? Hint: You can find the answer using approximation.

3 —
= <12.31... < \e‘f'Bl

10
c — 3
\;31>10 4— >12.31...
c — 3
12.31...> \;81:'10 4—

— 3
C \-";81 <10 Z < 12.31...

Domain Name: Expressions and Equations

Evaluate.

(5 -]
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Grade 8: Practice Worksheet

Evaluate.

ST —

Determine if the solution to each exponentis
positive or negative.

(-5) =
-(5)
(-2)°
-(2)

positive negative

Evaluate:




10.

Grade 8: Practice Worksheet

Select the expression equivalent to the following:
1=[?

10 '
© 1008

“ (10°
C 4p5

C 105

 none of the above

Select the expression equivalent to the following:

1-2= ?
3

C 32
C 23
C 23
O (15)2

" none of the above

Rewrite the expression as a single term.
27 x 23

C 211]

C 221

© 146

Y
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12.

13.

Grade 8: Practice Worksheet
Rewrite the expression as a single term.

144 » 148
C 4432
C 2gl6
C 1412
C pgl4

C ogl2

Rewrite the expression as a single term.

12°
12°

C 121

C 124

C 244

Select the expression that is equivalent to the following:

C 34

¢ none of the above

Y

th
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Grade 8: Practice Worksheet

Select the expression that is equivalent to the following:

89 x 82

C 8?
C 1/83
¢ none of the above

14.

Rewrite the expression as a single term.
(23)
C 218
C g2
C g6
C g3

C o9

15.
Select the expression that is equivalent to the following:
(2x%)*
C gy20
C gy9
C 0y8
C 9y20

C 41gx20

16.

th
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Grade 8: Practice Worksheet

Select the expression that is equivalent to the following:
9x2y4

C (3?2

(32y%)?

C (9?2

)2

o]

(9xy

o]

none of the above

17.

Select the expression that is equivalent to the following:

(22 x25)3

C 09

€ Ay

C 19

c oot

¢ none of the above

18.

Write the square root of each number.

V25 = /100 =
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Grade 8: Practice Worksheet

Part 1:

Estimate the square root of 22 by dragging the

perfect squares below.

v9=3 +V16=4 Vv25=5 V36=6

X=-/22
< X <
V3 V25 Ji6 V9
Part 2:

Select the true statement.

The square root of 22 is greater than 4 and greater than 5.

The square root of 22 is less than 4 and less than 5.

The square root of 22 is greater than 4 but less than 5.

20.




th
PERCEXTILE

Grade 8: Practice Worksheet

Drag the correct expression then solve for the cube root of 64.

64 =

Solve for the cube root of 64.

V64 =

4x4x4 5x5x5

21.

‘/}:l

22.

Evaluate.

23.

What is the coefficient in the following number in scientific notation?

3.45 x 104

C 345

24,




Grade 8: Practice Worksheet

Drag the decimal point and count the number of places the
decimal point has moved.

Standard Notation

5,000
5000

Wirite 5,000 in scientific notation.

Scientific Notation

5 x 104

25.

Drag the decimal point and count the number of places the
decimal point has moved.

Standard Notation

375.27
37527

Write 375.27 in scientific notation.

Scientific Notation

3.7527 x 10—

26.

Y

th
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Grade 8: Practice Worksheet

Drag each exponent to the correct position for each number
written in scientific notation.

0.00342 = 3.42x10

0.0342

3.42 x 10

0.000342 = 3.42x10

2 -3 -4 -5

27.

Enter the missing values to add the following two numbers
written in scientific notation.

7.8x10 +91x 10
| B x 10" +91x10°

(0.0078 + 91) x 10™

| 91.0078 x 10°

28.

%
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Grade 8: Practice Worksheet

Drag up the Additive Inverse to both sides of the equation,
then enter the solution for the variable d.

d+2= 6

T & 0]

+2 -2 +6 -6

Select which student solved the slope formula correctly.

x

Student 1 Student 2
Slope = 7= Slope = 3
Slope = 54— Slope = 52

4
Qope 0 /QOPGP% /




c 05

c 06

c 0.7

c -0.5
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Grade 8: Practice Worksheet

Find the slope between two points on a graph that are located at (3, 5) and (5, 6).

Domain Name: Functions

Determine if each graph represents a function.

y

I

-'._x

y

A




Grade 8: Practice Worksheet

Determine if each table represents a function.

i I 7 | 4
2|5 8 | -2
2|9 11| 3
4 |12 15 | -1

v
X

State the domain for the set of points.
{(8.8), (5, 7). (-4, 8), (4, 8)}

¢ Domain={7, 4,5, 8}
¢ Domain = {-4, 4,5, 8}
¢ Domain = {7, 4, 5, 8}

€ Domain = {-8, 4, 5, 8

%

th
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Grade 8: Practice Worksheet

Determine if each table represents a function.

2 7 3
3 8 3
4 11 4
1 15 4

N W N —
=l ~N;,
1 1
o N

ad
X

Determine if the following relationship is a function or is not a function.

U'h..

¢ Function

¢ Not a function




C
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Grade 8: Practice Worksheet

Select the points in this relation that show it is NOT a function.
Ifitis a function, select “This relation is a function.”

(1, 2),|(2, 3),/(3, 4), (1, 5),, (5, 6)

or

This relation is a function.

.
5
4
3
A 2
et
T3 3 2 ao0~L 2 3 435"
4 e
2 I H‘h
3
4
5
|

Which of the following linear equations matches the graph?
y="%3
y=-2x
y=("2)x
y=2x

y=-("2)x




10.
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Grade 8: Practice Worksheet

Drag the circle to the location of the y-intercept in the graph,
then enter the value in the box.

Y
r 3
5
4
3
2
1
e
“S % 3 2 70| 1 2 3% 5°% b:
e
.4-2‘“ g
=l . -3
B - -+
4 5
v

Use the graph to find the rate of change for the function.

<




Grade 8: Practice Worksheet

WIN| =] X
~N || w| =

Which function equation matches the function table?
Coy="ox+1
C y=2x+3
C y=THx-1
C y=3x+1

C y=2x+1

11.

Drag the y-intercept and the highlighted point into the
equation, then solve for the rate of change, m.

y=mx+b
L=m(C)+ [
7=2m+ 3
4 | 11 _
6 15 4=2m
=m
0 3 2 7

12.

%

th
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Grade 8: Practice Worksheet

Drag the highlighted points into the formula for the
rate of change, then simplify.

Rate of Change

.00
2|6 =1 ]
e -
31|19
Formula for Yom ¥,
Rateof mM=—————
Change Xo— X4
0 0 3 1

13.

Find the initial point, or y-intercept, in the following linear function:

y=-2x+12

The initial point of the function is b = I:l
14.

Find the rate of change, or slope, in the following equation:

y=-2x+ s
The rate of change is m = |:|

15.

%
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Grade 8: Practice Worksheet

Drag the input value into the equation, then simplify
to find the output.

f(x)=21-3x find { )

N

f6)=21-3( )
(6)
(6)

\ S 7

21 -

16.

During a storm, the distance in feet between the lightning and your location was represented by f(x) = 1,200x, where x is the number of
seconds between the lightning and thunder. At one point, you counted 4 seconds between the lightning and the thunder. How far were you from

the lightning?
[
17.

A moving truck rental costs a flat fee of $75 and $2 per mile driven. If you drive a moving truck for 10 miles, how much is the rental for the

moving truck?

1

18.




Grade 8: Practice Worksheet

Drag the input value into the equation, then simplify
to find the output.

fix)=3x2%-2 find f{ )

I 2

19.

f(x) = 5x
fix)
0
5
10
15

WlNn| = o] x

In the function f(x) = 5x, f(x) is which of the following?

¢ The output

¢ Only0, 5,10, 0r15
€ The domain

€ The same as x

¢ The input

20.

%
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Grade 8: Practice Worksheet

Label the following function elements.

L fa=2x+t
x | f(x)
— 3]
=== | 2 5 F===== |
!______l 3 7 !___,____l
- 4 [ 9 ||
Input
Range
Output
Domain

21.




Grade 8: Practice Worksheet

Use the tables to test if each relation is a function.

y=2x+1 y2=x y =x?
1 3 31-9 -1 1
2 5 319 0 O
3 | 7 4 -16 | 1 | 1
4 | 9 4 116 | 2 | 4

|
X

Show that the relation 5 = y° - x is not a function by filling in the table of values.

X y

2
4 3
31 -6
31

23.

What is the output, or y-value, when you input x = -4 into the function:

y=)r3+x2+2x+5
v=]
24,

What is the output, or y-value, when you input x = 1 into the function:

y=x2+8x-19

-0

Y

th
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Grade 8: Practice Worksheet

What is the output, or y-value, when you input x = 1 into the function:

y=x2+3x—19

-]

Domain Name: Geometry

Transformations change a figure's location,

orientation, and size, but not shape.

Rigid Transformations: do not change size
Translations, Reflections, and Rotations

Dilations: change size

A

Preimage
Image

The result of a transformation is called an [ ], while the original figure is calleda [ |

Label each change as a rigid transformation or a dilation.

v
¢ > W

rigid
transformation

dilation

th
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Grade 8: Practice Worksheet

A transformation can change which of the following?

Check all that are true.
[~ Location

™ Shape

[ Number of sides
[~ Orientation

[~ Size

A
Y
x

-5 ! -3 2 -1 0 1 2 3 4 9

LN

-3

-4

5

Y

Translate the triangle MNO 3 units to the left.
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Practice Worksheet

Grade 8

1

T o+ @M ™ -

B

-3

5

M T MmN e

on o 9 ¥ 9

Syt N2
N

C

kS

N

M

>

S

NG

-3 -2

o e |

C

I

NI




Grade 8: Practice Worksheet

L

Translate the polygon 5 units right.

Ay

.
'y
Y

H.“

%
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Grade 8: Practice Worksheet

A
R
/Y
C >
/ x
Z' T
Y
A
R
r - I,
/ x
/
Z' T
Y
A
R
C = >
1 x
/
/
A T
A\

"  none of the above

Triangle ABC has coordinates A(4, 1), B(5, 8), and C(2, 7). If the triangle is translated 7 units to the left, what are the coordinates of B?

(.

Quadrilateral ABCD has coordinates A(2, 2), B(-3, 2), C(-2, -7), and D(-5, 1). If the quadrilateral is translated 2 units to the left, what are the

coordinates of D*?

(]

In trapezoid ABCD, point D has coordinates D(1,3). If the trapezoid is translated 2 units left and 5 units down, what are the coordinates of D'?

(.




10.

=
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th
PERCEXTILE

Grade 8: Practice Worksheet

Drag the coordinates of the figure WXY after the figure is
reflected over the y-axis.

*

]
L

b b

3
o

®




0

11.

12.

th
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Grade 8: Practice Worksheet

Drag the coordinates of the figure DEFG after the figure is

reflected over the y-axis.

e em

e

A guadrilateral has vertices F(2, -2), G(3, 1), H(1, -2) and J(-2, 4). If the quadrilateral is reflected over the y-axis, what are the coordinates of F?

R
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Grade 8: Practice Worksheet

y
A
5

-1

-2

-3

4

-5

Y

Reflect the rectangle ABCD over the line y = 2.

» <

5
4
3
ol | I
!
C YT a0 3 {723 4 85>
-1
2
3
4
5




13.

N BN
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Grade 8: Practice Worksheet

T 2 3 4 57




14.

>

°0

Grade 8: Practice Worksheet

Drag the coordinates of the figure ABC after the figure is
reflected over the line y=-1.

Y
3

o

-5

ow

%

th
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Grade 8: Practice Worksheet

Drag the coordinates of the figure ABC after the figure is
reflected over the line y=-1.

Y

15.

A
5
4
3
A B
: 1
C
“s=% 3 =2 a0 T z 3 & §5°%
__________ S| I S S A E—
-2
-5
v
A B
& &
CI
o
A C
C B A
Preimage Image
What is the clockwise angle of rotation?
C 90°
c 180°
© 215°
c 270°
C 360°

16.

%
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Grade 8: Practice Worksheet

»
. =p

Preimage Image

What is the clockwise angle of rotation?

c 90°

c 180°
c 270°
C 360°

C  450°

17.

p<

-1

2

-3

-4

-5
Y

If triangle XYZis rotated 180° clockwise about the origin, what are the coordinates of ¥™?
)

18.
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Grade 8: Practice Worksheet

Triangle ABC has coordinates A(2, -5), B(1, -3), and C(6, 1). If the triangle is rotated 90° counterclockwise about the origin, what are the

coordinates of A”?
C_ 3

19.

Write the coordinates of the figure MNOP after the figure
has been dilated by a scale factor of 5.

Y
2
;

M N
=543-2-IDIZS45=X
P o

2
-3
=
5
6
v
M N O P

(-1,0) (1,0) (1,-1) (-1,-1)
M’ N’ O’ P’

(-5,0) (4L 5-5) LD

20.
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Grade 8: Practice Worksheet

M

A

Find the coordinates of the vertices after a dilation of 3/2.

c

c

C

21.

22.

S'(-1.5,0), R(1, 4.5), M(3, -3)
S'(-1.5, 0), R'(3, 4.5), M'(3, -3)
S'(-1.5, 0), R(3, 4.5), M(0, -3)
S'(-1.5, 2), R'(3, 5), M'(3, -3)

none of the above

The figure ABCDE has vertices A(1, 0), B(3, 0), C(4, 1), D(4, 2), and E(1, 2). Which of the following describes the translation if £ has

coordinates (4, -7)?

3 units right and 9 units down
9 units left and 3 units up

€ 3 units left and 9 units down
3 units left and 9 units up

¢ none of the above




23.
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Grade 8: Practice Worksheet

Describe the translation of ABCD.

B 5
Al | - B
K< ]:A’/r'
D C,
-+ D’ C »
5 4 3 2 10 1 2 3 4 5

5 units to the right and 5 units to the right and
1 unit down 1 unit up

4 units to the right and 4 units to the right and
2 units down 2 units up




24.

Grade 8: Practice Worksheet

A

5 4 3 2 A 1 2

-1

2

-3

4

-5

\J

Describe the transformation from QRST to Q'R'S'T..

Reflection, but not over the x-axis or the y-axis
Reflection over the x-axis
Reflection over the y-axis

none of the above

th
PERCEXTILE




th
PERCEXTILE

Grade 8: Practice Worksheet

Describe the transformation.

dilation with a scale factor of +

"

" dilation with a scale factor of 2

" dilation with a scale factor of 3

¢ dilation with a scale factor of 4

¢ none of the above

25.




26.
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Grade 8: Practice Worksheet

’ 3

-5

Y

What is the relation between the final image and the original preimage?
¢ Congruent
¢ Similar

¢ Neither congruent nor similar
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Grade 8: Practice Worksheet

Drag the correct symbols below.

27.

Find the missing side if the two rectangles are similar.

20in

10in

in

-

28.




Grade 8: Practice Worksheet

Which rule proves that these triangles are congruent?

¢ SAS (Side-Angle-Side)

¢ SSS (Side-Side-Side)

¢ AAS (Angle-Angle-Side)

ASA (Angle-Side-Angle)

 RHS (Right-angle-Hypotenuse-Side)

" none of the above

29.

Which of these correctly shows A FDE = AKLJ?
DWE J
F L$K
DWE J
F L$K
D E
VAP
FooL K
DWE J
F L‘g\"[;éK

o]

D

“

30.

%
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Which scatter plot represents the data shown in this table?

Grade 8: Practice Worksheet

Fill in the missing values to find the missing value

of the triangle.

4 in

Domain Name: Statistics and Probability

Hours Spent Studying 7

6

5

9

3

4

10

Science Score i

99

96

93

22

58

42

54

82

94

Science Score

100

2 4 ] B
Hours Spent Studying

10

Y

th
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Science Score

Science Score

5

Hours Spent Studying

Grade 8: Practice Worksheet

100

2

F ] 4 o B

Heours Spent Studying

10

100

]

-]

2 4 6 ]

Science Score

10

e

4 o B 10
Hours Spent Studying

th
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Grade 8: Practice Worksheet

100

(34,91)
a.84)) (31,82)
s ©
80 [(28,72)
(22,65) | °
E .
S 60
3 (15,50)
< -
2 (9,40)
g 40 . (39,33)
w KR
(4,22)
20 ¢
(2,10
o
0

5 10 15 20 25 30 35 40
Books Read

What was the English score when a student read 28 books?

O 72
c 82
o 22

C 65

100

80

40

Science Score

20

o 20 40 60 80 100

Daily Amount of Exercise (in minutes)

Determine the trend between daily amount of exercise and science scores.

Linear

¢ Nonlinear




Grade 8: Practice Worksheet

30

25

20

15 * .

10

Number of Classmates Wearing Shorts

20 40 60 80 100

Temperature (in degrees of Fahrenheit)

%

th
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What type of relationship does this plot show between temperature and number of classmates wearing shorts?

¢ Positive
¢ Negative

€ No association

Using the table below, what type of relationship is there between number of wins per season and average attendance?

Number of Wins
Per Season
Average Attendance

(in hundreds) * *

(]
b2
W
=

C Positive
C  Negative

' No association

18

38

21

()
W

[7))

(3]

Using the table below, what type of relationship is there between negative reviews and daily restaurant attendance?

Negative Reviews | 12 | 5 | 19 | 6

Daily Restaurant

9
Attendance 126 | 91 | 161 | 96

C  Positive
¢ Negative

¢ No association

106




Grade 8: Practice Worksheet

100
(45,90)
(40,80)
80
(13,70) (35,70) |
- = - - k2
@ (30.,60)
o 60
@ (25,50)
o .
2 |(20,40)
2 40 v
w (15,30)
.
(10,20)
201 .
|(5,10)
>
0

5 10 15 20 25 30 35 40 45 50

Number of Books Read

Which data point(s) are outside the cluster, in other words, the outliers?

Check all that are true.
I~ (15, 30)
™ (40, 80)
I (45,90)
™ (13,70)

[ (25, 50)

%
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Which of the following statements correctly explains the relationship of the two variables in the graph?

-

Waiting Time (in seconds)

100

Grade 8: Practice Worksheet

80

60

40

20

20

40 60

Cars on Road

80 100

th
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There is a negative linear association between cars on road and waiting time. As cars on road increase, the waiting time

decreases.

There is a positive linear association between cars on road and waiting time. As cars on road increase, the waiting time

increases.

There is a positive linear association between cars on road and waiting time. As cars on road increase, the waiting time

decreases.

There is a negative linear association between cars on road and waiting time. As cars on road increase, the waiting time

increases.




10.

11.

Y

Grade 8: Practice Worksheet

100

80

[(41,61)

60

nglish Score

E

10 20 30 40 50
Books Read

Using the two points, select the line of best fit that best explains the graph above.

C y=-2x+20
(@ y=-X+20
C y=2x+20

C y=x+20

100

L |(0,84)
80

60

40

20

Average Temperature (in fahrenheit)

1000 2000 3000 4000 5000
Height Above Sea Level (in feet)

Using the line of best fit, predict the average temperature when height above sea level equals 0.

[ ]degrees

th
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Grade 8: Practice Worksheet

Math Score

20

0 5 10 15 20

Absences

Using the line of best fit, find the anticipated decrease of the math score if the number of absences were to increase by 10.

The math score would decrease by [_| points.

100 (2,89)

(7.79)

Math Score
L ]

20

0 5 10 15 20

Absences

Approximate the equation of a line of best fit using the graph above.

C y=-20x+62

C y=-2x+93

C y=10x+412

C y=3/ x+30

13.
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Grade 8: Practice Worksheet

1000

I —

(57.823)
| S
800

Mozarn

400 y =14x+25

Salary Earned (in dollars)

200

20 40 60 80 100
Time Spent Working (in hours)

Using the data on this scatter plot and the equation of the line of best fit, predict the salary earned when a person works 5 hours.

[ |doliars

14.

Owmership of MP3 Player and Cell Phone

MP3 Player - Cell Phone

MP3 Player - Cell Phone
No MP3 Player - Cell Phone

Na MP3 Plaayer - Cell Phone
No MP3 Player - No Cell Phone

Using the information above, construct a two-way table showing the relationship between having a MP3 player and a cell phone.

[] [
[] [

15.
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Grade 8: Practice Worksheet

12
2
Is there an association between marriage and having kids?
— Yes
— No
16.
22 5
4 23
Of the people who do chores, what percent receive an allowance?
Round to the tenths place.
[ %
17.

Independent events are when Dependent events are when the
the first event does not affect second event depends upon the

the second event. first event happening.
b= b ¢
@ @ = ® Marble 1
¥ =4
»-e @3 = & (Marble 2|Marble 1)
b Marble 1 replaced (
@ i / ar replace

Marble 2 is dependent upon
b ¢ Marble 1 being drawn.

A bag contains 5 yellow, 4 green, and 2 blue marbles. One marble is drawn and immediately put back in the bag. Then a second marble is
drawn. Identify whether the events are independent or dependent.

€ Independent events
¢ Dependent events

¢ none of the above

18.
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Grade 8: Practice Worksheet

Set up an expression to show the probability of both events
successfully occuring.

Event 1 Event 2
Spinning a 7-sided spinner Rolling a 6-sided die and
and the arrow landing on an even number facing up

the number 5

Event 1 Event 2

1 3 6 7 (X

19.

Find the probability of drawing the first marble and,
without replacing that marble, drawing a second marble.

“.-'(' ©“r
@ X @3 >e

>3 _ 1 =3
P(red)y="%.= 3 P(blue)="%
A
There are 3 red marbles ./ There are 3 blue-marbles out of
out of the total of & marbles. the total of 5 remaing marbles

Two marbles are randomly drawn from a bag containing 3 purple, 1 blue, and 1 yellow marble. The first marble is blue and is not replaced. Find

the probability of drawing a second marble that is purple.

P(purple|blue) = :I
20.

A deck of cards has 3 blue, 4 black, and 6 purple cards. Draw 2 cards without replacing any cards. What is the probability of both cards being
blue?

T 566 =3.2%
C e =3.8%

€ 3= 57.7%
C 8/p9=3.6%

C 5/3=38.4%

21.
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Grade 8: Practice Worksheet

Mutually exclusive events cannot Mutually inclusive events can
happen at the same time. happen at the same time.
For example: For example:
e [Rollingal ®*®lRolli
olling a b ollinga 6
cee s e e o |Rolling an
— Rolling a 6 e @ o |cven number
~ 6

One card is drawn from a standard deck of 52 cards. When finding the probability of the event of drawing a red card and the probability of the

event of drawing a black card, identify whether the events are mutually exclusive or mutually inclusive.

€ Mutually exclusive events

€ Mutually inclusive events

A number cube numbered from 1 to 6 is rolled. What is the probability of the number cube showinga2,a6,ora1?

(Note: Percentages are rounded to the nearest tenth of a percent.)
C o, =50%
C 1s=167%
C 345 -60%
C 24 _667%

C 1/,-33.3%
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Grade 8: Practice Worksheet

Mutually inclusive events are two ore more
events that can happen at the same time.

P(A or B) =P(A) + P(B) - P(A and B)

Add the probability of each event, then
subtract the outcomes that happen twice.

P(3 or odd) =P(3) + P(odd) - P(3 and odd)

PBorodd) = & + 3 - & ‘E
PBorodd) = § = 50% <3

At the pet store, 3 cats are brown with stripes, 2 cats are orange with stripes, and 5 cats are solid brown. What is the probability of a cat being

brown or having stripes?
€ 340=30%
c 1=100%
C ,=50%
C Vg=20%

C 4% -80%

24,

Independent events: First event does not affect the second event,
P(A and B) = P(A) « P(B)

Dependent events: First event affects the second event,

P(A and B) = P(A) « P(B|A)

Mutually exclusive events: Events that cannot happen at the same time,
P(A or B) = P(A) + P(B)

Mutually inclusive events: Events that can happen at the same time,
P(A or B) = P(A) + P(B) - P(A and B)

A drawer of socks contains 4 blue pairs, 6 white pairs, and 8 black pairs. Three pairs of socks are randomly selected and replaced. When
finding the probability of all three pairs being white, identify the compound events.

 Independent events
¢ Dependent events
Mutually exclusive events

€ Mutually inclusive events

25.
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27.

Grade 8: Practice Worksheet

Evening Meal

Newspaper

th
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The evening newspaper is delivered at a random time between 5:30 and 6:30 pm. Dinner is at a random time between 6:00 and 7:00 pm.

Develop a simulation to be used to determine the probability of the newspaper arriving before they start dinner.

Spin the Newspaper spinner 30 times and record the results. Then find the experimental probability.
Spin each spinner 30 times and record the results of each spin. Then find the experimental probability.
Spin the Evening Meal spinner 30 times and record the results. Then find the experimental probability.

Spin each spinner 30 times and only record the results when the newspaper arrives after dinner is started. Then find the

experimental probability.

There is not enough information to determine a simulation.

A coin is tossed 2 times. Display all possible outcomes in an organized list.

C

-

.

(H,H), (H, T), (T, T), (H, T)
(H, T), (T, H), (T, T) (T, H)

(T, T), (T, H), (H, T), (H, H)
(H, H), (H, T), (T, H), (H, H)

(H, H), (H, T), (T, H), (H, H)




(T,2)

28.

possible outcomes.

Grade 8: Practice Worksheet

Drag in the missing values to complete the table of

A 6-sided die is rolled and a quarter is flipped.

Complete the table to show all of the possible outcomes.

Ji[2[3T4[5]6
8§ |(H1) (H4)| 1|(H6)
8§ | (T1) (T.3) | (T.4) | (T.5)
(T6) (H,2) (H,3)
(H.5)

th
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You have a deck of four cards that are numbered 1 though 4. Two of the cards are drawn without replacement. Display all of the possible

outcomes in a tree diagram.

29.
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Grade 8: Practice Worksheet

Drag in the missing values to complete the table of
possible outcomes.

A 7-sided spinner is spun and a quarter is flipped.
Complete the table to show all of the possible outcomes.

11231 4|56 |7
(H,1)|(H,2) (H,4)|(H,5) (H,7)

'

Tails [Heads

(T,2) ((T,3) | (T,4) | (T,5)

(T,1) (T.6) (T,7) (H,)3)
(H,6)

30.

® 0

Tourist Business Artist
Person
Musician Medical College

Professional  Student
A bus can contain a tourist, a business person, an artist, a musician, a medical professional, or a college student. A number cube with the
numbers one through six is rolled 36 times. The number cube showed the number four 7 times. Determine the experimental probability of a

person on the bus being a musician.

© P(musician) = 7/36 = 19.4%
C P(musician) = /g = 11.1%
€ P(musician) = /7 = 14.3%
C P(musician) = %/43 = 15.4%

C  P(musician) = 7/g = 77.8%




